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Aiodoc Zener

Xapoktnplotikn V-1 dtodou Zener

H diodog Zener £yel oyedlaoTel yio vo AEITOVPYEL 6TV
TEPLOYN KATAPPELONC.
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H xatdppevon g o1doov Zener:

ocvuPaiver otn Zener og yaunAég avaotpogeg taoelc. H Zener eivon évtova voBesvpévn yua va,
LeImOeL 1 Taom KaTtdppeLONG. AVTO TPOKAAEL Lol TTOAD AETTY] TEPLOYN ATOYOUVOGCTG. 2OV
ATOTEAEG O, DITAPYEL EVA 10YVPO NAEKTPIKO TTEDIO HEGO GTNV TTEPLOYT] aoyOUVmonS. Kovtd
otV téon katdppevong Zener (V,), to medio eival apketd 1oxvpod MGTE Vo dEYEIpEL
nAektpovia oo 1M Lovn oBévoug kot va, dnuovpyndel pevua.

Ot 610d01 Zener mov £yovv TaoelC Katdppevonc mepimov 5 V 11 Myodtepo Ae1tovpyodv Kupime
oTN Agyouevn meployn Zener. Avtég mov £xovv Tdoelg Katdppevons ueyoaivtepeg and 5 V
Ae1Ttovpyovv N Aeyouevn eproyn yrovootorfadas. Kot ot 6o tOmor ovopdlovial diodot
Zener. Ot gumopika dradéaiuec Zener £yovv tdoelc katdppevonc and 1 V éwg 250 V pe avoyég
¢ Taénc tov 1% €wg 20%.

Yrafepomoinon pe Zener. H wavotnta tng Zener va kpotdel 6tafepn) tnv TG 610 AKPOL TN
glvou 1 o oNUAVTIKT] NG 1010t To. AELITOVPYDOVTOC GTNV TEPLOYN KATAPPEVGNG TNG 1N ZEner
Aertovpyel cav 6tafepomoin ¢ 010TL O1aTNPEL TNV TAGT oTabepn| GE Lol evpeia TEPLOYN
PEVULATOC GTNV AVAGTPOPT TOAWMGT).



Aiodo¢ Zener

H Zener givar uia diodo¢ 1mou
AgIToupyeEi e avriortpopn
moAwan arnv raocn Zener (V,).

Otav V, 2V,
H Zener givai ON
H tdon mavw oTtn Zener gival V,
Peopa Zener: I, = 15— Ig,
loxug otn Zener: P, = V,l,

OtavV, <V,
H Zener civalr OFF
H Zener €ival avoIKTOKUKAWPO
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Aiodoc Zener

Xapaktnplotikn V-1 5todou Zener

XapaKTNPIOTIKNA |
avaoTpoPng TOAwoNg |, A i __
uiag 516dou zener. To e e

V, kaBopileTal
ouvnNOwC¢ o€ uIa TIUNA
TOU peuuartog Zener
TTOU €ival YVWOoTO WG
peUNA DOKIUNG.

[ —————————— Ik (zener Knee current)

—————————————— /7 (zener test current)

B —————

KatavaAwon loxvog otn Zener

o ——————————— I7zq (zener maximum current)

PD:VZIZ l;

PD(max) = Vzlzm In



Aiodoc Zener

Movtela 6Lodou Zener

(1) 1daviké MovTtéAo
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(a) Ideal model (b) Ideal characteristic curve

I6avikn 6iodog Zener. 100dUVANO KUKAWMNA KOl XOPAKTNPIOTIKN.
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Movtéha 61660u Zener [VARLIeCeiLC R\ () g4,Ye
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(a) Practical model (b) Characteristic curve. The slope is exaggerated for illustration.

MNMpakTikn diodog Zener. |[0odUvaAPO KUKAWUA KAl
XOPOKTNPIOTIKI OTTOU QPAiVETAI N AVTIOTAGN OEIPAG Z,.
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Movtéla 610bou Zener l :
H avtiotaon cepdc zener, Z,, gival o Aoyog .
HETOBOANC TNE TAoNC 6TV TEPLOYN =
KOTAPPELONG TPOC TNV AVTIGTOLYN AAAOYY
PELULATOC:

L, = i\l/z - - o

"[w“ﬁswuu: > POKTIKO LOVTEAO

[16om eivon n avtictaom zener dv n tédon g 01000L Zener
uetafPdarietor and 4.79 V e 4.94 V Otav 1o pevua
uetaParieton and 5.00 mA ce 10.0 mA?

‘“'"“]: 7 AV, _015V _ .04

Al, 5.0mA




A zener diode exhibits a certain change in V5 for a certain change in [ on a portion of
the linear characteristic curve between Iz and [z as illustrated in Figure 3—6. What
is the zener impedance?

AV, =50 mV

| e
Vip= ] 0




Edbappoyec Atodou Zener

YtaBepomoinon taong

2€ EQUPUOYEC
YOUNAOD PEOUOTOC,
Lo 01000¢ Zener
UTOpEL va
YPNOLULOTON el ™C
Baoikdc
otabepomonTng.

2T00epoTTOinON Zener o€
METABANTA TTNYNA TAONC.
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Edbappoyec Atodou Zener

YtaBepormnoinon taonc

H avdivon otktomv mov ¥pnoiiomolovy 01000v¢ Zener givat
OPKETA TOPOUOLA, LLE VTNV TTOVL EQAPUOCETOL GTNV OVAAVGT
OO0 MV MUY DYDV:

1. IIpocotopiote TNV KATAGTAGT) TNE O1000V.

2. AVTIKOTOGTNGTE TO KATAAANAO LLOVTEAO.

3. IIpocotopiote TIC AALEC AYVOGTEC TOGOTNTEC TOL OIKTVOV.

R R

S
(=)
-
o~/
+ O

-, 28 _ + A
\% IN4733A 74 Voun Vix ;—_

M\ 05.1VAYV,
100 2
74

11



Edbappoyec Atodou Zener

2taBepomoinon taong

24V O

(a)

IT — IZ + IL
R

MAN—eo

130 ()

-

R
AN\ —o
2 g
N L/
Vin == Y gkl.
R J6 'V
vo—AMN—o2o o
——
71.0 mA
L
/1 Ik =0.25 mA R, § 70.75 mA
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Edbappoyec Atodou Zener

2taBepomoinon taong

fupddetyul:

H Zener 1N756 (8.2 V at 25°C)

YPNOIUOTOLEITON GaV GTABEPOTOIMNTNG Vi —L

ota 8.2 V 610 kuKkiopo. ITowa gtval n

LUIKPOTEPT TIUT OVTIOTAGTNC POPTIOL
oL UTopEl va cuvoedel mote va unv

yo0el 1 otabepomoinon? Ocwpnote
10avikn 6iooo Zener.

NOOILE:

To pevpo Zener ywpic poptio sivar T ==

Av10 glval 10 uEY16TO peva poptiov. Emouévag,

9.8 mMA

AN ® 0
10 kQ
+ 1N756
__ 82V /4
18V A § at
V-V, _18V-82V o
1.0 kQ
AR ey
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2. Zener Diode Applications:

Voltage Regulator with Varying Load Resistance R,

In low current applications, a zener diode can be used as a
basic regulator.

prample:

A IN756 (8.2 V at 25°C) 1s used as an «/f/» _

8.2 V regulator in the circuit shown. 10 ko

What is the smallest load resistor that | Yoo - ;§7\?"T =R
can be used before losing regulation?

Assume an 1deal zener diode model = = =
with a Knee current of 0.4mA. and the
maximum zener current 1s SOmA.

sdlll”” This maximum load current in regulation is I .=l -I7x= 9.8mA-0.4mA = 9.4mA
Therefore, R, .= V,/I .. =8.2V/9.4mA= (872 KO
VIN-V7 18V—8.2V

The current inR 18/, = == =0.8 mA < Izmax, so no upper limiton R
AR 1.0 kQ Pl <
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Napadeypa

[MpocdloploTe TO EAAXLOTO KOl TO UEYLOTO PEL AL
doptiouv yLa to omnoio n dlodoc Zener oto oxnua Ba
dlatnpnoeL tn puBuon. Mowa eiva n eAdXLOTN TN
NG R, mou umopet va xpnowponownBei; V, = 12y, I, =1
mA kat |, = 50mA.

9
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VIN =—=—— ol §

When I} = 0 A (R; = o0), Iz 1s maximum and equal to the total circuit current I.

 Vin—Vz 24V - 12V

I . — 255mA
Z(max) = 1T R 470 Q -

If R; 1s removed from the circuit, the load current is 0 A. Since Iz, 18 less than

I7n. 0 A 1s an acceptable minimum value for [} because the zener can handle all of the
25.5 mA.

I (min) = 0A
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‘yl\ — e
UV A § Ry

The maximum value of I; occurs when f7 1s minimum (I7 = Izk). so
IL(max) — IT e IZK = 255 mA — I mA = 24.5mA
The minimum value of R; is

Vs 12V
Ritmim = - = 490 Q)
i) = w245 mA

Therefore, if R; is less than 490 (), R; will draw more of the total current away from
the zener and Iz will be reduced below Izk. This will cause the zener to lose regula-
tion. Regulation is maintained for any value of R; between 490 () and infinity.
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Edbappoyec Atodou Zener

WaAldlotn g taong

O Zener umopoiv eniong va xpnoipomombodv mg TEPIOPIGTEG N
yolototéc. O back-to-back Zener og avtd to KK opa Teplopilovy TV

£€€000 GTNV TACT KOATAPPEVGTNC GLV O TTOGCT TAGNC 01000V 0.7V,
R R

M ° O | AMN o
O | o)

(a) (b)

A/W O
Baoikn Asitoupyia Zener D, i
WG WAAISIOTH NUITOVIKAG | D, 0

KUMATOMOP®NAG.
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Edbappoyec Atodou Zener

WaAldlotn ¢ taonc

EpoyTno
[Toteg etvon 01 pPEYIGTEG
OeTiKéC Kol apvnTIKEC
TAGELS €AV 1 TOOT
KOTAPPELONG NG Zener
etvar 5,6 V;

poon: g3y

O
5 +Vz +0.7 V
1 / \
o Vs, —0.7V
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Edbappoyec Atodou Zener

WaAldLlotn g taong

33V

Ch i

58V

0
-40V

(a)

R
o—AV o
1.0k
20V 6.2V
0 |
20V 15V
o ‘o)
(b)
6.9V
V..
0
-157V

(b)
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